Chapter 5: Boundary value problems in solid mechanics



Read Example 27 from the textbook. (See. 101 from Timoshenko & Goodier) $\mathbf{n} = \cos \theta \mathbf{e}_1$ + $\sin\theta \mathbf{e}_2$ $Map: x = z + u(z) \qquad u(z)$ $\mathcal{I} = \mathbf{I} - \mathbf{\beta} \mathbf{z}_2 \mathbf{z}_3 \mathbf{g} + \mathbf{\beta} \mathbf{z}_1 \mathbf{z}_3 \mathbf{g}_2$ x_3 Strains: $\beta \sim \frac{1}{2}\beta$ $\beta = 2 - z_2$ $\beta \sim -z_1 = 0$ Figure 63 Pure torsion of a circular shaft $\begin{array}{c} \mathcal{E} \sim \frac{1}{2} \left[\begin{array}{c} \overline{z_{3}} & 0 & \overline{z_{1}} \\ -\overline{z_{2}} & \overline{z_{1}} & 0 \end{array} \right] \\ \Rightarrow \text{ Stress} : \quad \mathcal{S} = \lambda \text{ trafe} \right] \overline{1} + 2\mu \mathcal{E} = \mu \mathcal{E} \begin{bmatrix} 0 & 0 & -\overline{z_{2}} \\ 0 & 0 & \overline{z_{1}} \\ -\overline{z_{2}} & \overline{z_{1}} & 0 \end{bmatrix} \\ \text{ o (assumed)} \\ \text{Verify div } \mathcal{S} + \mathcal{E} = \mathcal{D} + \text{ check BCs.} \end{array}$

These systems of PDEs, cannot be solved analytically, in general. We use numerical methods and use simplifying assumptions.

Simplifying Assumptions:

- Arisymmetric problems
- · Plane Stress / Plane Strain
- Beam Theory } Structural Mechanics
 Plate / Shell Theory }

Example: 2D Plane Problems

· Plane Stress

$$\sigma_{33} = 0$$
; $\sigma_{13} = \sigma_{31} = 0$;
 $\sigma_{23} = \sigma_{32} = 0$;



ie $\sigma = D_{\rho\sigma} \in$

and $\theta_{22} = -\frac{\gamma}{E} \left(\sigma_{xx} + \sigma_{yy} \right)$

$$\begin{cases} \sigma_{\mathcal{R}\mathcal{R}} \\ \sigma_{\mathcal{G}\mathcal{Y}} \\ \sigma_{\mathcal{R}\mathcal{Y}} \end{cases} = \frac{E}{(1-\gamma^2)} \begin{bmatrix} 1 & \gamma^2 & 0 \\ \gamma & 1 & 0 \\ 0 & 0 & \frac{1-\gamma^2}{2} \end{bmatrix} \begin{pmatrix} \varepsilon_{\mathcal{R}\mathcal{R}} \\ \varepsilon_{\mathcal{G}\mathcal{Y}} \\ \varepsilon_{\mathcal{G}\mathcal{H}} \\ \varepsilon_{\mathcal{G}\mathcal{H}} \end{pmatrix}$$

· Plane Strain

$$e_{33} = 0$$
; $e_{13} = e_{31} = 0$;
 $e_{23} = e_{23} = 0$



Stress-strain relationship:



 $\begin{cases} \sigma_{xx} \\ \sigma_{yy} \\ \sigma_{xy} \end{cases} = \frac{E}{(1+\gamma^2)(1-2\gamma)} \begin{cases} (1-\gamma) & \gamma & 0 \\ \gamma & (1-\gamma) & 0 \\ \sigma_{xy} & \sigma_{xy} \end{cases} \begin{cases} \varepsilon_{xx} \\ \varepsilon_{yy} \\ \varepsilon_{xy} \end{cases}$

One-dimensional (1D) little BVP

To understand how to obtain numerical solutions to complicated 2D/3D problems in general, let's first study some 1-D problems where we can usually obtain exact solutions.



 $u(0) = u_{\alpha}$

Ch5-BVPs Page 3

Example. Column under self weight:

$$\begin{array}{c} A(x) = constant = 1 (say) \\ \circ \sigma(x) = C \varepsilon(x) : constant "C" \\ \circ Density : g \\ \circ BCs : u(0) = 0 \quad \text{on } \Gamma_D(x=0) \\ \sigma(l)(H) = f_l = -10 \quad \text{on } \Gamma_L(x=l) \\ \end{array}$$

$$\begin{array}{c} (H)_{l}(x) = h_{l}(x) \\ f_{l}(x) \\ f_{l}(x) = h_{l}(x) \\ f_{l}(x) = h_{l}(x) \\ f_{l}(x) = h_{l}(x) \\ f_{l}(x) = h_{l}(x) \\ f_{l}(x) \\ f_{l}(x) = h_{l}(x) \\ f_{l}(x) \\ f$$

for stresses:

$$\sigma' + b = 0$$

$$\Rightarrow \frac{d\sigma}{d\pi} = -b(\pi) = +fg$$

$$\Rightarrow \sigma(\pi) = fg\pi + c_1$$

$$t_L = \sigma(L) = fgL + c_1$$

$$\Rightarrow G = t_L - fgL$$

$$\Rightarrow \sigma(\pi) = fg\pi - fgL + t_L$$

Alternatively:

$$\sigma(l) - \sigma(x) = \int gg dx = gg(l-x) \quad (\text{Integrating } \int)$$

$$\Rightarrow \quad \overline{\sigma(x)} = gg x - gg l + t_{L} \quad (t_{L} = \sigma(l)(t))$$

For displacement:

$$\begin{aligned}
(u' = \sigma(x) &= ggx - ggl + t_{L} \\
\Rightarrow \quad u(x) &= \frac{1}{C} \left[ggx^{2} - ggl x + t_{L} x \right] + g_{2}^{-\mu} \quad (u(0) = u_{0} = 0)
\end{aligned}$$

Consider the 1-D problem:
Find
$$\sigma(x)$$
, $u(x)$:

$$G = \sigma(e)$$

$$G = u_{0}$$

$$G =$$

This is called the <u>strong</u> form (S) of the governing differential equation (GDE).

Weak forms

Define
$$G(\sigma, \overline{u}) \equiv \Theta\left[\int_{0}^{l} \overline{u}(\alpha)g(\alpha) \cdot d\alpha + \overline{u}(0)(t_{0} + \sigma(0)) + \overline{u}(l)(t_{0} - \sigma(l))\right]$$

 $G(\sigma, \overline{u}) : A \underbrace{scalar}_{(\alpha + b)} \underbrace{functional}_{(\alpha + b)} (function of functions)$
 $Example : \int_{0}^{\sigma} \overline{u} + \underbrace{functional}_{(\alpha + b)} (\tau_{0} + \sigma(0) - l)(\tau_{0} - l) = -\frac{l^{3}}{3} - l(\tau_{0} - l)$
 $G((\frac{1}{2}, \frac{\alpha}{2}, \frac{\alpha}{2})) = -\int_{0}^{s} \alpha \cdot \alpha d\alpha - \sigma(\tau_{0} + \sigma) - l(\tau_{0} - l) = -\frac{l^{3}}{3} - l(\tau_{0} - l)$
 $\operatorname{Input} functions = -\int_{0}^{s} \alpha \cdot \alpha d\alpha - \sigma(\tau_{0} + \sigma) - l(\tau_{0} - l) = -\frac{l^{3}}{3} - l(\tau_{0}$

Weak form of the Problem Statement.

eak form of the Problem Statement.
If for some
$$\sigma(\alpha)$$
, to for all Function space
 $G(\sigma, \overline{u}) = 0$ $\forall \overline{u} \in V(o, l)$
There \Rightarrow $g = \sigma' + b = 0$ $\forall \pi \text{ in } (0, l)$
 $\sigma(l)(+1) = t_{l}$ at $\pi = l$
 $\sigma(0)(-1) = t_{o}$ at $\pi = 0$

This relies on the fundamental theorem of Calculus of Variations:

$$If G(\sigma, \overline{u}) = \Theta\left[\int_{0}^{l} \overline{u}(\alpha) \frac{1}{g(\alpha)} d\alpha - \overline{u}(0) \frac{1}{\alpha_{o}} - \overline{u}(l) \frac{1}{\alpha_{e}}\right] = 0 \quad \forall \quad \overline{u}(\alpha) \in V(o, l)$$

$$\underline{Then} \Rightarrow g(\alpha) = 0 \quad \text{and} \quad a_{o} = 0 \quad \text{and} \quad a_{e} = 0$$

Proof of Fundamental theorem of calculus of variations

Proof of Fundamental theorem of calculus of variations
First, let
$$\overline{u}(0) = \overline{u}(l) = 0$$

Thurt $lxists$ $\overline{u}(x) = g(x) \in V(0,l)$
So if $G(\sigma,\overline{u}) = -\int \overline{u}g dx$
 $= -\int g^{t} dx = 0 \Rightarrow g = 0 \Rightarrow \sigma' + b = 0 \quad \forall x \in (0,l)$
 $g(x)$
 $f = -\int g^{t} dx = 0 \Rightarrow g = 0 \Rightarrow \sigma' + b = 0 \quad \forall x \in (0,l)$
 $g(x)$
 $f = -\int g^{t} dx = 0 \Rightarrow g = 0 \Rightarrow \sigma' + b = 0 \quad \forall x \in (0,l)$
 $g(x)$
 $f = -\int u^{t} \overline{u}g dx = \overline{u}(0), \quad \overline{u}(l) \neq 0 \Rightarrow$
If $G(\sigma,\overline{u}) = -\int^{l} \overline{u}g dx = \overline{u}(0)(t_{0} + \sigma(0)) = \overline{u}(l)(t_{0} - \sigma(b)) = 0 \quad \forall \overline{u} \in V(0,l)$
 $\Rightarrow t_{0} + \sigma(0) = 0 \quad ; \quad t_{1} - \sigma(b) = 0$
Restriction on the choice of Function spaces
 $V(\sigma,l)$
Fundamental Theorem of calculus of variations restricts $\overline{u} \in V(0,l)$:
 \overline{u} must be aquare integrable
 $u = \int_{0}^{l} (\overline{u}x^{2} dx \quad must exist$
 $(u \in finite)$
 L_{2} -norm of $\overline{u}(x)$ ($L:$ lebesgue)
Note: Dirac-delta $\delta(x - x_{0})$ is not L_{2} .
 $\int_{-\infty}^{\infty} \delta(x - x_{0})^{2} dx = \frac{2}{3E} \xrightarrow{\omega} 0$
 $\int_{-\infty}^{\infty} (\delta(x - x_{0})^{2} dx = \frac{2}{3E} \xrightarrow{\omega} 0$
 $\int_{-\infty}^{\infty} \delta(x - x_{0})^{2} dx = \frac{2}{3E} \xrightarrow{\omega} 0$

Possible choices for function spaces:

Ch5-BVPs Page 7

Weak Form: Method of weighted Residuals (MWR):

$$\begin{split} & \mathsf{MWR}(\mathbf{y}) \quad \overbrace{\mathsf{G}(\sigma, \overline{u}) = \mathfrak{O} \int_{\overline{u}}^{\ell} (\alpha) g(\alpha) \cdot d\alpha - \overline{u}(\mathfrak{O})(\ell_{\mathfrak{o}} + \sigma(\mathfrak{O})) + \overline{u}(\mathfrak{I})(\mathfrak{O}(\mathfrak{I}) - \ell_{\mathfrak{I}})}_{\mathcal{G}(\sigma, \overline{u}) = \mathfrak{O} \int_{\overline{u}}^{\ell} \overline{u}(\sigma' + \mathfrak{O}) d\alpha - \overline{u}(\mathfrak{O})(\mathfrak{a}(\mathfrak{O} + \ell_{\mathfrak{O}}) + \overline{u}(\mathfrak{I})(\sigma(\mathfrak{O}) - \ell_{\mathfrak{I}})}_{\mathcal{O}} \\ & = -\int_{\mathcal{O}}^{\ell} d(\overline{u}, \mathfrak{O}) + \int_{\overline{u}}^{\ell} \sigma d\alpha - \int_{\overline{u}}^{\ell} \overline{u} d\alpha - \int_{\overline{u}}^{\ell} \overline{u}$$

Weak form problem statements:

Find
$$u(x) \in H^{2}(0,l)$$
 and to such that $u(0) = u_{0}$
 $G(u,\bar{u}) = 0 \quad \forall \quad \bar{u}(x) \in L_{2}(0,l) = H^{0}(0,l)$
where $G(u,\bar{u}) = -\int \bar{u}((cu')' + b) dx - \bar{u}(0)(t_{0} + \sigma(0)) - \bar{u}(b)(t_{1} - \sigma cb))$
 OR
Find $u(x) \in H^{1}(0,l)$ and to such that $u(0) = u_{0}$
 $G(u,\bar{u}) = 0 \quad \forall \quad \bar{u}(x) \in \frac{V_{0}(0,l)}{L_{0}(0,l)} + H^{1}(0,l)$
where $G(u,\bar{u}) = \int \bar{u}'cu' dx - \int \bar{u}b dx - \bar{u}(0) t_{0} - \bar{u}(b) t_{1}$

Boundary Conditions

In the weak form of the problem statement:

$$MWR \begin{cases}
Find to and $u(x) \in H^{2}(0, k) \text{ such that } u(0) = u_{0} \quad (F_{0}:x=0) \\
(F_{0}:x=0) \quad (F_{0}:x=0) \\
(F_{0}:x=1) \\$$$

$$(W): \begin{cases} una & ((0, w) = 0 & v & w(x) \in H_{E}(0, x) \text{ space for virtual disp.} \\ where & G(\sigma, w) = -\int w(\sigma' + b) dx - w(b) (t_{e} - \sigma c_{b}) & (HEBC) \\ & (HEBC) & (HEBC) \\ & NEC & (I_{N}: x = l) \end{cases}$$

OR

$$\begin{array}{c} & \text{Space for real displacement} \\ & \text{Find} & \text{Find} & \text{w(x)} \in H'(o, l) & \text{such that} & u(0) = u_0 & \text{EBC} \\ & \text{and} & G(\sigma, \bar{u}) = 0 & \forall & \bar{u}(x) \in H'_E(o, l) & \\ & \text{where } G(\sigma, \bar{u}) = \int \bar{u}' \sigma \, dx & - \left[\int \bar{u} b \, dx + \bar{u}(l) t_e \right] & \\ & \text{where } G(\sigma, \bar{u}) = \int \bar{u}' \sigma \, dx & - \left[\int \bar{u} b \, dx + \bar{u}(l) t_e \right] & \\ & \text{we} \end{array}$$

Examples of Boundary Conditions & Approximation Function Spaces

(accurate
$$A = 1$$
)
(c) strong form $(Cu')' + b = 0$ $\forall x \in (0, \ell)$ $(accurate $A = 1$)
 $(+ \text{ Some } BC_{3})$
(1) $u(x=0) = U_{6}$ $\frac{EBC}{A} \Rightarrow \overline{u}(0) = 0$ $(HEBC)$ $(accurate $A = 1$)
 $\sigma(\ell)(r) = t_{c} = \frac{F_{c}}{A}$ $\frac{NBC}{NBC}$
 $u(x=L) = u_{L}$ $\frac{EBC}{BC} \Rightarrow \overline{u}(l) = 0$
 $u(x=L) = u_{L}$ $\frac{EBC}{BC} \Rightarrow \overline{u}(l) = 0$
 $u(x=L) = u_{L}$ $\frac{EBC}{BC} \Rightarrow \overline{u}(l) = 0$ (HEL) (u_{L})
 $u(x=\ell) = u_{L}$ $\frac{EBC}{BC} \Rightarrow \overline{u}(l) = 0$ (HEL) (u_{L})
 $u(x=\ell) = u_{L}$ $\frac{EBC}{BC} \Rightarrow \overline{u}(l) = 0$ (HEL) (u_{L})
 $u(x=\ell) = u_{L}$ $\frac{EBC}{BC} \Rightarrow \overline{u}(l) = 0$ (HEL) (u_{L}) (u_{L})
 (u_{L})
(3) $u(x=0) = U_{a}$ $\frac{EBC}{BC} \Rightarrow \overline{u}(l) = 0$ (HEL) (u_{L}) (u_{L})
 (u_{L})
(4) $(u_{L}) = u_{L}$ $\frac{EBC}{BC} \Rightarrow \overline{u}(l) = 0$ (HEL) (u_{L}) (u_{L})
 (u_{L})
(5) $\sigma(0)(-1) = t_{0} = \frac{F_{c}}{A}$ $(Mixed)$ $(Mixed)$ $(Mixed)$ (u_{L}) $(u_{L})$$$

Variational (Energy-based) methods

In contrast with Weighted residuals,
sometimes it is possible to derive the
weak form from Variational (Energy) Principles.

Figuillorium (MWR/PVW)

Kd (PED)

T = U + W
T =
$$b_2 \times d^2 + (-mgd)$$

Minimum $\Rightarrow \frac{2\Pi}{3d} = 0 \Rightarrow Kd - mg > 0$
 $\Rightarrow kd = mg$
 $= f_{1/2} C(u')^2 = kg$
 $= f_{1/2} C(u')^2 dx$
 $= f_{1/2} C(u')^2 - ub] dx$
 $= u(u) = \int [k_2 C(u')^2 - ub] dx$
 $= u(u) = \int [k_2 C(u')^2 - ub] dx$
 $= u(u) = h[[k_2 C(u')^2 - ub] dx$
 $= u(u) = h[u]$
 $= h[u]$

$$D T(u) \cdot \bar{u} = \left[\frac{d}{de} \left(T(u + e\bar{u}) \right) \right]_{e=0} = 0$$

Energy weak form:

$$D \pi(u) \cdot \overline{u} = \left[\frac{d}{de} \left[\pi(u + e\overline{u}) \right] \right]_{e=0}^{2} = \frac{d}{de} \left[\int_{1}^{1} C(u' + e\overline{u})^{2} dx - \int (u + e\overline{u}) b dx - (u(0) + e\overline{u}(0)) t_{0} - (u(l) + e\overline{u}(l)) t_{0} \right]$$
$$= \frac{d}{de} \left[\int_{1}^{1} C(u'^{2} + 2e'u'\overline{u}' + e^{2}\overline{u}'^{2}) dx - \int (u + e\overline{u}) b dx - (u') + e\overline{u}(l) t_{0} \right]$$

i.e.
$$= \int_{0}^{k} C u' \overline{u}' dn - \int_{0}^{k} \overline{u} b dx - \overline{u} dv t_{k} - \overline{u}(0) t_{0}$$
$$W_{I} - W_{E} = G(u, \overline{u}) / U$$
$$D T(u) \cdot \overline{u} = G(u, \overline{u}) \quad (E) \Rightarrow W \quad (W) \quad (PVW)$$

Integrate by parts (in reverse - to unbalance the derivatives):

$$= -\int_{0}^{l} \overline{u} Cu'' dx + [\overline{u} Cu']_{0}^{l} - \int_{0}^{l} \overline{u} b dx - \overline{u} dt t_{0} - u(0)t_{0}$$

$$= -\int_{0}^{l} \overline{u} (Cu'' + b) dx + \overline{u} dt [Cu' dt] - t_{0} - \overline{u} (0) [Cu' (0) + t_{0}]$$
Natural BC@l Nat BC@O

N 1

$$D\Pi(u) \cdot \overline{u} = G(u, \overline{u}) = 0 \quad \text{for } \underline{all} : \forall \overline{u}(u) \in H^{1}_{o}(o, l)$$

then
(5) and
$$Cu''+b=0$$
 at all points x in (0, l)
 $Cu'(l) = \sigma(l) = t_l$ at $x = l$

i.e. we get the governing differential equation (GDE) back from the variational principle.

In general, if you have "some"
$$\overline{\Pi(u)}$$

i.e. some "energy" functional
then, the governing differential equation corresponding to $\overline{\Pi(u)}$
is called its Euler equation (or Euler-Lagrange equation) (3)

Example:

Consider the Weak form for the 1-D problem:

$$G(u,\overline{u}) = \int_{0}^{l} \overline{u}' C u' dx - \int_{0}^{l} \overline{u} b dx - \overline{u} db t_{l}$$

$$U_{0} = \int_{0}^{l} \overline{u}' C u' dx - \int_{0}^{l} \overline{u} b dx - \overline{u} db t_{l}$$

Varibberg's Th:
• Liveanity of
$$\bar{u}$$

• Symmetric in \bar{u} $D \in (u, \bar{u}_1) \cdot \bar{u}_2 = D \in (u, \bar{u}_2) \cdot \bar{u}_1$
 $\frac{LHS}{D \in (u, \bar{u}_1) \cdot \bar{u}_2} = \frac{d}{d \in [0]} \int_{u_1}^{u_1} C(u + \epsilon \bar{u}_2) d\alpha - \int_{u_1}^{u_2} \bar{u}_2 d\alpha - \bar{u}_1 d\beta te} \int_{e=0}^{e=0} \int_{u_1}^{u_1} C \bar{u}_2' d\alpha \quad (f)$

$$\frac{\mathcal{R}HS}{DQ(u,\bar{u}_{2})\cdot\bar{u}_{1}} = \frac{d}{d\varepsilon} \left[\int_{0}^{\varepsilon} \bar{u}_{2}'C(\mu+\phi\bar{u}_{1})dx - \int_{0}^{\varepsilon} \bar{u}_{2}b\,dx - \bar{u}_{2}dx t \right]$$

$$= \int_{0}^{\varepsilon} \bar{u}_{2}'C\,\bar{u}_{1}'\,dx \quad \textcircled{P}$$

$$\Rightarrow TT(u) = \frac{1}{2} G(tu,u) dt + f^{\circ} \qquad \int_{0}^{\varepsilon} tdt = \left[\frac{t^{2}}{2} \right]_{t=1}^{t} \frac{1}{2}$$

$$T(u) = \int_{0}^{\varepsilon} G(tu,u) dt + f^{\circ} \qquad \int_{0}^{\varepsilon} tdt = \int_{0}^{\varepsilon} \left[\int_{0}^{\varepsilon} u'C(tu)'dx - \int_{0}^{\varepsilon} ubdx - ut)ti \right] dt$$

$$\Rightarrow TT(u) = \int_{0}^{\varepsilon} \left[\int_{2}^{\varepsilon} u'C(tu)'dx - \int_{0}^{\varepsilon} ubdx - ut)ti \right] dt$$

$$\Rightarrow TT(u) = \int_{0}^{\varepsilon} \left[\frac{1}{2} C(u')^{2}dx - \int_{0}^{\varepsilon} ubdx - ut)ti \right] dt$$

Hamilton's Principle (for Dynamics)

Consider

$$f_{\pm u} = f_{\pm u} = f_{\pm$$

$$\begin{array}{c} \underbrace{\operatorname{Weak \ form \ in \ 3D}}_{[MWR \ W]} \underbrace{W}_{(MWR \ W)} = \int_{\Omega} \frac{1}{\overline{u}} \cdot \left(dw \ \underline{s} \ + \underline{b} \right) d\Omega \ - \int_{\overline{u}} \frac{1}{\overline{u}} \cdot \left(\underline{t}_{kg_{1}} - S_{ij} \ \eta_{i} \right) dP \\ = \int_{\Omega} \frac{1}{\overline{u}} \cdot \left[(S_{ij,j}) + b_{i} \right] d\Omega \ - \int_{\overline{u}} \frac{1}{\overline{u}} \cdot \left(\underline{t}_{kg_{1}} - S_{ij} \ \eta_{i} \right) dP \\ = \int_{\Omega} \frac{1}{\overline{u}} \cdot \left[(S_{ij,j}) + b_{i} \right] d\Omega \ - \int_{\overline{u}} \frac{1}{\overline{u}} \cdot \left(\underline{t}_{kg_{1}} - S_{ij} \ \eta_{i} \right) dP \\ = \int_{\Omega} \frac{1}{\overline{u}} \cdot \left[(S_{ij,j}) + b_{i} \right] d\Omega \ - \int_{\overline{u}} \frac{1}{\overline{u}} \cdot \left(\underline{t}_{kg_{1}} - S_{ij} \ \eta_{i} \right) dP \\ = \int_{\Omega} \frac{1}{\overline{u}} \cdot \left[(S_{ij,j}) + b_{i} \right] d\Omega \ - \int_{\overline{u}} \frac{1}{\overline{u}} \cdot \left[(\overline{u} \cdot S_{ij}) \right] dP \ - \left[\overline{u}_{i} \cdot S_{ij} \ \eta_{i} \right] dP \ - \left[\overline{u}_{i} \cdot S_{ij} \ \eta_{i} \right] dP \ - \left[\overline{u}_{i} \cdot S_{ij} \ \eta_{i} \right] dP \ - \int_{\overline{u}} \frac{1}{\overline{u}} \cdot \left[(\overline{u} \cdot S_{ij}) \right] dP \ - \int_{\overline{u}} \frac{1}{\overline{u}} \cdot \left[(\overline{u} \cdot S_{ij}) \right] dP \ - \int_{\overline{u}} \frac{1}{\overline{u}} \cdot \left[(\overline{u} \cdot S_{ij}) \right] dP \ - \int_{\overline{u}} \frac{1}{\overline{u}} \cdot \left[(\overline{u} \cdot S_{ij}) \right] dP \ - \int_{\overline{u}} \frac{1}{\overline{u}} \cdot \left[(\overline{u} \cdot S_{ij}) \right] dP \ - \int_{\overline{u}} \frac{1}{\overline{u}} \cdot \left[(\overline{u} \cdot S_{ij}) \right] dP \ - \int_{\overline{u}} \frac{1}{\overline{u}} \cdot \left[(\overline{u} \cdot S_{ij}) \right] dP \ - \int_{\overline{u}} \frac{1}{\overline{u}} \cdot \left[(\overline{u} \cdot S_{ij}) \right] dP \ - \int_{\overline{u}} \frac{1}{\overline{u}} \cdot \left[(\overline{u} \cdot S_{ij}) \right] dP \ - \int_{\overline{u}} \frac{1}{\overline{u}} \cdot \left[(\overline{u} \cdot S_{ij}) \right] dP \ - \int_{\overline{u}} \frac{1}{\overline{u}} \cdot \left[(\overline{u} \cdot S_{ij}) \right] dP \ - \int_{\overline{u}} \frac{1}{\overline{u}} \cdot \left[(\overline{u} \cdot S_{ij}) \right] dP \ - \int_{\overline{u}} \frac{1}{\overline{u}} \cdot \left[(\overline{u} \cdot S_{ij}) \right] dP \ - \int_{\overline{u}} \frac{1}{\overline{u}} \cdot \left[(\overline{u} \cdot S_{ij}) \right] dP \ - \int_{\overline{u}} \frac{1}{\overline{u}} \cdot \left[(\overline{u} \cdot S_{ij}) \right] dP \ - \int_{\overline{u}} \frac{1}{\overline{u}} \cdot \left[(\overline{u} \cdot S_{ij}) \right] dP \ - \int_{\overline{u}} \frac{1}{\overline{u}} \cdot \left[(\overline{u} \cdot S_{ij}) \right] dP \ - \int_{\overline{u}} \frac{1}{\overline{u}} \cdot \left[(\overline{u} \cdot S_{ij}) \right] dP \ - \int_{\overline{u}} \frac{1}{\overline{u}} \cdot \left[(\overline{u} \cdot S_{ij}) \right] dP \ - \int_{\overline{u}} \frac{1}{\overline{u}} \cdot \left[(\overline{u} \cdot S_{ij}) \right] dP \ - \int_{\overline{u}} \frac{1}{\overline{u}} \cdot \left[(\overline{u} \cdot S_{ij}) \right] dP \ - \int_{\overline{u}} \frac{1}{\overline{u}} \cdot \left[(\overline{u} \cdot S_{ij}) \right] dP \ - \int_{\overline{u}} \frac{1}{\overline{u}} \cdot \left[(\overline{u} \cdot S_{ij}) \right] dP \ - \int_{\overline{u}} \frac{1}{\overline{u}} \cdot \left[(\overline{u} \cdot S_{ij}) \right] dP \ - \int_{\overline{u}} \frac{1}{\overline{u}} \cdot \left[(\overline{u} \cdot S_{ij}) \right] dP \ - \int_{\overline{u}} \frac{1}{\overline{u}$$

Energy form in 3D One can show that the Vainberg's Theorem is satisfied for the above weak form.

$$\Rightarrow \pi(u) = \int_{0}^{1} G(t\underline{u}, \underline{u}) dt$$

$$= \int_{0}^{1} \left[\int_{\Omega} \underline{\varepsilon} : \underline{c} (t\underline{\varepsilon}) d\Omega - \int_{\Omega} \underline{u} \cdot \underline{t}_{00} dT \right] dt$$

$$\Rightarrow \pi(\underline{u}) = \int_{\Omega} \frac{1}{2} \underline{\varepsilon} : \underline{c} = d\Omega - \int_{\Omega} \underline{u} \cdot \underline{t}_{00} dT$$

$$= \int_{\Omega} \pi(\underline{u}) = \int_{\Omega} \frac{1}{2} \underline{\varepsilon} : \underline{c} = \frac{1}{2} \frac{1}{2$$